Contract 25-11 Sanitary Ma	anhole Rehabilitat	tion / Inflow/Infiltration Re	duction Program (	#9704056)				
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
· · · ·								
Bid Opening: 06/16/2025 1	1:00 AM CDT							
					Vinton Constructi	on Company	Carl Bowers & Sons	Const Co. Inc
					1322 33rd S	1 7	Cull Dowels & Solis	const. co., me.
				ł – ł	Two Rivers, W			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
	item Code	nem Description	COLIVI	Qualitity	Unit l'fice	\$1,133,766.25	Unit i fice	\$1,133,960.00
Section 1		Mahiliantian annalata an				\$1,133,766.25		\$1,133,960.00
	1050	Mobilization; complete as		1.00	<b>*100</b> 000 00	<b>*100</b> 000 00	<b>*125</b> 000 00	#1 <b>25</b> 000 00
	1050	specified	Lump Sum	1.00	\$132,000.00	\$132,000.00	\$125,000.00	\$125,000.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	210.00	\$5.00	\$1,050.00	\$10.00	\$2,100.00
		7" concrete pavement						
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1308	complete as specified	Square Yards	1,100.00	\$163.00	\$179,300.00	\$150.00	\$165,000.00
	1500	7" concrete pavement	Square rarus	1,100.00	\$105.00	\$175,500.00	\$150.00	\$105,000.00
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1309	complete as specified	Square Yards	200.00	\$168.00	\$33,600.00	\$155.00	\$31,000.00
		8" concrete pavement						
		removal and replacement;						
		including sawing;						
		pavement ties; dowel						
		bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1010		C	50.00	#1 (0.00	#8.400.00	¢1(0.00	#0.000.00
	1318	complete as specified	Square Yards	50.00	\$168.00	\$8,400.00	\$160.00	\$8,000.00

Contract 25-11 Sanitary Ma	nhole Rehabilitat	tion / Inflow/Infiltration Re	duction Program (#	\$9704056)				
Owner: Oshkosh WI, City o			0					
Solicitor: Oshkosh WI, City	v of							
, ,								
Bid Opening: 06/16/2025 11	1:00 AM CDT							
					Vinton Construe	ction Company	Carl Bowers & So	ns Const Co. Inc
					1322 33rd		Call Dowels & 50	no const. co., me.
				+	Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section The	item coue	8" concrete pavement	COIM	Quantity	Chint Frite	Extension	OmtThee	Extension
		HES removal and						
		replacement; including						
		sawing; pavement ties;						
		dowel bars; bond breaker;						
		integral curb and fine						
		grading; turf restoration;						
		and traffic control;						
	1319	complete as specified	Square Yards	500.00	\$173.00	\$86,500.00	\$165.00	\$82,500.0
		Turf restoration;						
	1370	complete as specified Replace and set CITY-	Square Yards	250.00	\$20.00	\$5,000.00	\$12.00	\$3,000.0
		supplied manhole						
		castings and frames;						
	1373	complete as specified	Each	90.00	\$200.00	\$18,000.00	\$650.00	\$58,500.0
	10/0	Furnish and install	Luch	50.00	\$200.00	\$10,000.00	\$000.00	450,500.0
		concrete adjustment						
		rings; complete as						
	1374	specified	Vertical Feet	55.00	\$672.00	\$36,960.00	\$750.00	\$41,250.0
	1574	Furnish and install rubber	ventical Feet	55.00	\$672.00	\$30,900.00	\$750.00	φ41,200.0
		adjustment rings;						
	1375	complete as specified	Vertical Feet	5.00	\$1,570.00	\$7,850.00	\$1,100.00	\$5,500.0
	1575	Tuck point manholes;	ventical Feet	5.00	\$1,570.00	\$7,850.00	\$1,100.00	\$3,300.0
	1376	complete as specified	Each	10.00	\$300.00	\$3,000.00	\$250.00	\$2,500.0
	1570	Cold weather covering	Lacii	10.00	\$500.00	\$3,000.00	\$250.00	φ2,500.0
		(concrete pavement) -						
		single visquine; complete						
	1380	as specified	Sauaro Vardo	100.00	\$0.01	\$1.00	\$0.01	\$1.0
	1380	Cold weather covering	Square Yards	100.00	\$0.01	\$1.00	\$0.01	\$1.0
		(concrete pavement) -						
	1000	double visquine;		50.00	<b>#0.01</b>	¢0.50	<b>#0.01</b>	40 <b>-</b>
	1382	complete as specified Up-charge for late season	Square Yards	50.00	\$0.01	\$0.50	\$0.01	\$0.5
		1 0						
		cold weather concrete						
		pavement; complete as	0.1			±2		· · -
	1390	specified	Cubic Yards	150.00	\$0.01	\$1.50	\$0.01	\$1.50
		4" concrete sidewalk with						
		3" CABC and grading;	_					
	1500	complete as specified	Square Feet	150.00	\$15.00	\$2,250.00	\$14.00	\$2,100.00

Contract 25-11 Sanitary Ma	nhole Rehabilitat	ion / Inflow/Infiltration Re	duction Program (	#9704056)				
Owner: Oshkosh WI, City			0	1				
Solicitor: Oshkosh WI, City								
someteon controom (11) eng	, 01							
Bid Opening: 06/16/2025 11	1.00 AM CDT							
biu opening. 00/10/2020 11								
					Vinton Construc	tion Company	Carl Bowers & So	ns Const Co. Inc
					1322 33rd	. ,	Call Dowels & 30	iis Collst. Co., life.
					Two Rivers,			
	The Col	K D		0 "			11 11 D 1	<b>T</b> ( )
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" concrete sidewalk/						
		driveway/ramp with 3"						
		CABC and grading;						
	1510	complete as specified	Square Feet	60.00	\$17.00	\$1,020.00	\$15.00	\$900.0
		Drilled No. 4 sidewalk tie						
		bars - deformed; epoxy-						
		coated; complete as						
	1560	specified	Each	12.00	\$10.00	\$120.00	\$12.00	\$144.0
		Remove and replace						
		HMA pavement;						
		including sawing; fine						
		grading; turf restoration;						
		and traffic control;						
	1904	complete as specified	Square Yards	475.00	\$89.65	\$42,583.75	\$105.00	\$49,875.00
		Asphaltic cold weather	-					
		paving up-charge;						
	1918	complete as specified	Square Yards	100.00	\$10.00	\$1,000.00	\$0.01	\$1.0
		Temporary cold mix	1					
		asphaltic patch; complete						
	1930	as specified	Square Yards	100.00	\$0.01	\$1.00	\$0.01	\$1.0
		Furnish and install 24" x	- 1		+ • • • •		+	4
		38" HERCP Class III						
		storm sewer; complete as						
	2049	specified	Linear Feet	16.00	\$265.00	\$4,240.00	\$350.00	\$5,600.00
	2047	Connect to existing storm	Effective	10.00	\$200.00	\$4,240.00	\$550.00	φ5,000.00
		sewer main; complete as						
	2850	specified	Each	2.00	\$950.00	\$1,900.00	\$3,000.00	\$6,000.0
	2000	Furnish and install 8"	Lach	2.00	φ950.00	φ1,200.00	φ3,000.00	φ0,000.0
		sanitary sewer (relay);						
	3000		Lincor Fast	120.00	\$430.00	¢E1 (00.00	\$76E 00	¢21 000 00
	3000	complete as specified Furnish and install 10"	Linear Feet	120.00	\$ <del>4</del> 30.00	\$51,600.00	\$265.00	\$31,800.00
	2002	sanitary sewer (relay);	Liner	40.00	#(D) 00	¢05 440.00	#075 00	¢11.000.00
	3002	complete as specified Furnish and install 15"	Linear Feet	40.00	\$636.00	\$25,440.00	\$275.00	\$11,000.00
		sanitary sewer (relay);	••• = ·					±
	3006	complete as specified	Linear Feet	15.00	\$656.00	\$9,840.00	\$310.00	\$4,650.00
		Furnish and install 8"						
		sanitary sewer drop;						
	3060	complete as specified	Vertical Feet	6.50	\$610.00	\$3,965.00	\$1,600.00	\$10,400.00

Contract 25-11 Sanitary Ma	nhole Rehabilita	tion / Inflow/Infiltration Re	duction Program (	#9704056)				
Owner: Oshkosh WI, City			0 .					
Solicitor: Oshkosh WI, City								
control control (1) eng	, 01							
Bid Opening: 06/16/2025 11	1.00 AM CDT							
bia Opening. 00/10/2025 11								
					Vinton Construction	on Company	Carl Bowers & Sons	Const Co. Inc
					1322 33rd S		Call Dowers & Solis	const. co., mc.
					Two Rivers, W			
Contion Title	Item Code	Item Description	UofM	Owentites	Unit Price		Unit Price	Futuraian
Section Title	Item Code	Item Description Rebuild 8" sanitary sewer	UOIM	Quantity	Unit Frice	Extension	Unit Frice	Extension
		drop on existing						
	20/1	manhole; complete as		2.50	#0( <b>5</b> .00		#1 (50.00	
	3061	specified Furnish and install	Vertical Feet	3.50	\$965.00	\$3,377.50	\$1,650.00	\$5,775.00
		standard sanitary sewer						
		manhole (4' diameter)						
		with slurry backfill;						
	3101	complete as specified	Vertical Feet	14.50	\$1,375.00	\$19,937.50	\$1,500.00	\$21,750.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	86.00	\$795.00	\$68,370.00	\$500.00	\$43,000.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	40.00	\$385.00	\$15,400.00	\$550.00	\$22,000.00
		Furnish and install						
		sanitary sewer internal						
		manhole chimney seal;						
	3118	complete as specified	Each	12.00	\$580.00	\$6,960.00	\$600.00	\$7,200.00
		Reconstruct sanitary						
		sewer manhole (4'						
		diameter) with slurry						
		backfill; complete as						
	3123	specified	Vertical Feet	110.36	\$1,750.00	\$193,130.00	\$1,700.00	\$187,612.00
		Furnish and install						
		sanitary sewer manhole						
		concrete foundation						
		collar; complete as						
	3149	specified	Each	4.00	\$1,386.00	\$5,544.00	\$1,000.00	\$4,000.00
		Pour and reshape						
		manhole bench; complete						
	3160	as specified	Each	2.00	\$750.00	\$1,500.00	\$1,200.00	\$2,400.00
		Furnish and install 8" x 6"		İ İ				
		sanitary sewer factory						
		wyes or tees; complete as						
	3210	specified	Each	8.00	\$1,360.00	\$10,880.00	\$1,200.00	\$9,600.00

Contract 25-11 Sanitary Ma	nhole Rehabilitat	tion / Inflow/Infiltration Re	duction Program (	#9704056)				
Owner: Oshkosh WI, City			0					
Solicitor: Oshkosh WI, City				1				
,,	,			1				
Bid Opening: 06/16/2025 11	1.00 AM CDT							
biu opening. 00/10/2020 1								
					Vinton Construction	on Company	Carl Bowers & Sons	Const Co. Inc
				ł – – ł –	1322 33rd S		Call Dowers & Solis	const. co., me.
					Two Rivers, W			
Cooline Tille	Ham Calls	It is Description	U-OA	Owentites			II. 't D.'.	Fatau-lau
Section Title	Item Code	Item Description Furnish and install 10" x	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		6" sanitary sewer factory						
		wyes or tees; complete as						
	3212	specified	Each	6.00	\$2,140.00	\$12,840.00	\$1,300.00	\$7,800.0
		Furnish and install 6"						
		sanitary sewer "Insert-A-						
		Tee" or "Kor-N-Tee";						
	3222	complete as specified	Each	1.00	\$2,118.00	\$2,118.00	\$1,300.00	\$1,300.0
		Furnish and install 4"/6"						
		sanitary sewer lateral						
		(relay); complete as						
	3234	specified	Linear Feet	100.00	\$214.00	\$21,400.00	\$180.00	\$18,000.0
		Furnish and install 4"/6"						
		sanitary sewer riser						
		(relay); complete as						
	3235	specified	Linear Feet	15.00	\$214.00	\$3,210.00	\$190.00	\$2,850.00
		Furnish and install						
		sanitary sewer lateral						
		marker balls; complete as						
	3236	specified	Each	16.00	\$75.00	\$1,200.00	\$25.00	\$400.0
		Furnish and install						
		connection to existing 8"						
		sanitary sewer mains;						
	3300	complete as specified	Each	23.00	\$1,185.00	\$27,255.00	\$2,400.00	\$55,200.0
		Furnish and install			+-)	+	+_,	<i>+•••)</i> _•••••
		connection to existing 10"						
		sanitary sewer mains;						
	3302	complete as specified	Each	10.00	\$1,482.00	\$14,820.00	\$2,500.00	\$25,000.0
	0002	Furnish and install	Buch	10.00	\$17102.000	\$11,020100	<i><i>q2,000100</i></i>	\$20,000.00
		connection to existing 15"						
		sanitary sewer mains;						
	3306	complete as specified	Each	2.00	\$1,916.00	\$3,832.00	\$2,700.00	\$5,400.0
	5500	Furnish and install	Lacii	2.00	ψ1,210.00	φ0,002.00	φ2,7 00.00	ψ0,400.0
		sanitary sewer concrete						
		collars; complete as						
	2220	-	Eash	2.00	¢2 050 00	¢4 100 00	¢1.000.00	¢ <b>0</b> 000 0
	3330	specified Closed circuit televising -	Each	2.00	\$2,050.00	\$4,100.00	\$1,000.00	\$2,000.0
	0710	using push camera;	F 1	2.00	4500.00	#1.000.00	<b>#2</b> 00	* • •
	3710	complete as specified	Each	2.00	\$500.00	\$1,000.00	\$2.00	\$4.0

Contract 25-11 Sanitary Ma	nhole Rehabilitat	ion / Inflow/Infiltration Re	duction Program (	#9704056)				
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City	y of							
Bid Opening: 06/16/2025 11	1:00 AM CDT							
					Vinton Construc	ction Company	Carl Bowers & So	ns Const. Co., Inc.
					1322 33rd	l Street		
					Two Rivers,	WI 54241		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Abandon sanitary sewer						
		manholes; complete as						
	3800	specified	Each	1.00	\$1,177.00	\$1,177.00	\$500.00	\$500.00
		Excavation special						
		(sanitary); complete as						
	3892	specified	Tons	50.00	\$30.00	\$1,500.00	\$50.00	\$2,500.00
		Furnish sanitary sewer						
		manhole grouting setup;						
	3974	complete as specified	Each	32.00	\$1,500.00	\$48,000.00	\$1,600.00	\$51,200.00
		Furnish and install						
		sanitary sewer manhole						
		grouting; complete as						
	3975	specified	Gallons	335.00	\$10.50	\$3,517.50	\$12.00	\$4,020.00
		Furnish sanitary sewer						
		manhole cementitious						
		liner setup; complete as						
	3976	specified Furnish and install	Each	2.00	\$650.00	\$1,300.00	\$750.00	\$1,500.00
		sanitary sewer structural						
		cementitious liner-						
		PERMACAST by AP/M						
	2077	PERMAFORM; complete		25.00	#1 <= 00		#4 <b></b> 00	¢( 10= 00
D'177 ( 1	3977	as specified	Vertical Feet	35.00	\$165.00	\$5,775.00	\$175.00	\$6,125.00
Bid Total:						\$1,133,766.25		\$1,133,960.00

Contract 25-11 Sanitary Ma	nhole Rehabilitat	tion / Inflow/Infiltration Re	duction Program (	#9704056)		
Owner: Oshkosh WI, City			0			
Solicitor: Oshkosh WI, Cit						
· · ·						
Bid Opening: 06/16/2025 1	1:00 AM CDT					
-					DE GROOT	L. INC.
						,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1	Titlin Could	num 2 computiti	conn	Quality		\$1,254,370.45
Section 1		Mobilization; complete as				¢1,201,070.10
	1050	specified	Lump Sum	1.00	\$92,894.75	\$92,894.75
	1000	Removing concrete and	Earlip Sain	1.00	\$72,071.70	φ <i>12,</i> 071.70
		asphalt sidewalk and				
		driveway; complete as				
	1120	specified	Square Feet	210.00	\$22.73	\$4,773.30
	1120	7" concrete pavement	oquare reer	210.00	φ22.70	ψ1,770.00
		removal and replacement;				
		including sawing;				
		pavement ties; dowel				
		bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1200		Course Manda	1 100 00	#157.01	¢172 F01 00
	1308	complete as specified	Square Yards	1,100.00	\$157.81	\$173,591.00
		7" concrete pavement				
		HES removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1309	complete as specified	Square Yards	200.00	\$164.13	\$32,826.00
		8" concrete pavement				
		removal and replacement;				
		including sawing;				
		pavement ties; dowel				
		bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1318	complete as specified	Square Yards	50.00	\$170.44	\$8,522.00

Contract 25-11 Sanitary Mar	nhole Rehabilitat	tion / Inflow/Infiltration Re	duction Program (#	\$9704056)		
Owner: Oshkosh WI, City o			0 .			
Solicitor: Oshkosh WI, City						
,,						
Bid Opening: 06/16/2025 11	:00 AM CDT					
					DE GRO	OT INC
					DEGRO	01,1110.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		8" concrete pavement				
		HES removal and				
		replacement; including				
		sawing; pavement ties;				
		dowel bars; bond breaker;				
		integral curb and fine				
		grading; turf restoration;				
		and traffic control;				
	1319	complete as specified	Square Yards	500.00	\$176.75	\$88,375.00
		Turf restoration;	1			
	1370	complete as specified	Square Yards	250.00	\$18.94	\$4,735.00
		Replace and set CITY-	1		-	
		supplied manhole				
		castings and frames;				
	1373	complete as specified	Each	90.00	\$1,414.00	\$127,260.00
	10,0	Furnish and install	Duch	20.00	\$1/11100	\$121,200,000
		concrete adjustment				
		rings; complete as				
	1374	specified	Vertical Feet	55.00	\$939.30	\$51,661.50
	1574	Furnish and install rubber	vertical reet	55.00	\$959.50	\$51,001.50
		adjustment rings;				
	1375	complete as specified	Vertical Feet	5.00	\$1,717.00	\$8,585.00
	1375	Tuck point manholes;	vertical reet	5.00	\$1,717.00	\$6,383.00
	1276	-	Each	10.00	\$505.00	¢= 0=0.00
	1376	complete as specified Cold weather covering	Each	10.00	\$303.00	\$5,050.00
		(concrete pavement) -				
		· · ·				
	1000	single visquine; complete		100.00	<b>11 2</b> (	#1 <b>2</b> < 00
	1380	as specified	Square Yards	100.00	\$1.26	\$126.00
		Cold weather covering				
		(concrete pavement) -				
		double visquine;				
	1382	complete as specified	Square Yards	50.00	\$1.26	\$63.00
		Up-charge for late season				
		cold weather concrete				
		pavement; complete as				
	1390	specified	Cubic Yards	150.00	\$18.94	\$2,841.00
		4" concrete sidewalk with				
		3" CABC and grading;				
	1500	complete as specified	Square Feet	150.00	\$13.89	\$2,083.50

Contract 25-11 Sanitary Manh	ole Rehabilitat	ion / Inflow/Infiltration Re	eduction Program (	#9704056)		
Owner: Oshkosh WI, City of	1			<b>I</b>		
Solicitor: Oshkosh WI, City o	f					
Bid Opening: 06/16/2025 11:00						
biu Opening. 00/10/2025 11.00				+ +		
					DE GRO	OT INC
					DE GRO	01, INC.
Cootion Title	Item Calls	Item Description	U-O/	Owentliter	II. 't D.'.	To to a star
Section Title	Item Code	Item Description 6" concrete sidewalk/	UofM	Quantity	Unit Price	Extension
		driveway/ramp with 3"				
		CABC and grading;				
	1510	complete as specified	Square Feet	60.00	\$15.15	\$909.00
		Drilled No. 4 sidewalk tie				
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	12.00	\$12.63	\$151.56
		Remove and replace				
		HMA pavement;				
		including sawing; fine				
		grading; turf restoration;				
		and traffic control;				
	1904	complete as specified	Square Yards	475.00	\$87.93	\$41,766.75
		Asphaltic cold weather	<b>.</b>			
		paving up-charge;				
	1918	complete as specified	Square Yards	100.00	\$12.63	\$1,263.00
		Temporary cold mix	-1			.,
		asphaltic patch; complete				
	1930	as specified	Square Yards	100.00	\$40.40	\$4,040.00
	1750	Furnish and install 24" x	Square rarus	100.00	\$10.10	φ+,0+0.00
		38" HERCP Class III				
		storm sewer; complete as				
	2040	-	The second second	16.00	¢420.04	ФС QC 4 С 4
	2049	specified Connect to existing storm	Linear Feet	16.00	\$429.04	\$6,864.64
		0				
		sewer main; complete as				
	2850	specified	Each	2.00	\$2,525.00	\$5,050.00
		Furnish and install 8"				
		sanitary sewer (relay);				
	3000	complete as specified	Linear Feet	120.00	\$324.64	\$38,956.80
	1	Furnish and install 10"				
	1	sanitary sewer (relay);				
	3002	complete as specified	Linear Feet	40.00	\$329.70	\$13,188.00
		Furnish and install 15"				
	1	sanitary sewer (relay);				
	3006	complete as specified	Linear Feet	15.00	\$348.68	\$5,230.20
		Furnish and install 8"				
	1	sanitary sewer drop;				
	3060	complete as specified	Vertical Feet	6.50	\$656.50	\$4,267.25

Contract 25-11 Sanitary Ma	nhole Rehabilitat	tion / Inflow/Infiltration Re	duction Program (	#9704056)		
Owner: Oshkosh WI, City				<b>I</b>		
Solicitor: Oshkosh WI, Cit						
,,,,,,	,			1		
Bid Opening: 06/16/2025 12	1:00 AM CDT					
514 opening, 00,10,2020 1						
					DE GRO	OT INC
				+ +	DE GRO	01,110.
				+ +		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section The	field code	Rebuild 8" sanitary sewer	conn	Qualitity	ChitThee	Extension
		drop on existing				
		manhole; complete as				
	3061	specified	Vertical Feet	3.50	\$858.50	\$3,004.75
	5001	Furnish and install	Vertical Feet	0.00	\$000.00	\$5,001.75
		standard sanitary sewer				
		manhole (4' diameter)				
		with slurry backfill;				
	3101	complete as specified	Vertical Feet	14.50	\$2,001.13	\$29,016.39
	5101	Furnish and install	ventearreet	14.00	φ2,001.15	φ29,010.59
		sanitary sewer external				
		manhole chimney seal;				
	3114	complete as specified	Each	86.00	\$657.51	\$56,545.86
	5114	Furnish and install	Lacit	00.00	ψ007.01	\$30,5 <del>1</del> 5.00
		sanitary sewer external				
		manhole chimney seal				
		extension; complete as				
	3116	specified	Each	40.00	\$433.29	\$17,331.60
	0110	Furnish and install	Euch	10.00	ψ100.2 <i>)</i>	ψ17,001.00
		sanitary sewer internal				
		manhole chimney seal;				
	3118	complete as specified	Each	12.00	\$636.72	\$7,640.64
	5110	Reconstruct sanitary	Lacii	12.00	\$030.72	\$7,010.01
		sewer manhole (4'				
		diameter) with slurry				
		backfill; complete as				
	3123	specified	Vertical Feet	110.36	\$1,672.76	\$184,605.79
	5125	Furnish and install	ventical reet	110.50	\$1,072.70	\$104,005.75
		sanitary sewer manhole				
		concrete foundation				
		collar; complete as				
	3149	specified	Each	4.00	\$1,515.00	\$6,060.00
	5117	Pour and reshape	Buch	4.00	ψ1,010.00	φ0,000.00
		manhole bench; complete				
	3160	as specified	Each	2.00	\$757.50	\$1,515.00
	5100	Furnish and install 8" x 6"	LaCII	2.00	φ <i>151.5</i> 0	φ1,515.00
		sanitary sewer factory				
		wyes or tees; complete as				
	3210	specified	Each	8.00	\$1,111.00	\$8,888.00
	3210	specificu	EdCII	6.00	\$1,111.00	<i>ф</i> 0,000.00

Contract 25-11 Sanitary Manh	ole Rehabilitat	ion / Inflow/Infiltration Re	duction Program (	#9704056)		
Owner: Oshkosh WI, City of			-			
Solicitor: Oshkosh WI, City of						
Bid Opening: 06/16/2025 11:00	AM CDT					
214 0 pennig. 00,10,2020 11100						
					DE GROC	T INC
	-				DEGROC	,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install 10" x		<b>2</b>		
		6" sanitary sewer factory				
		wyes or tees; complete as				
	3212	specified	Each	6.00	\$1,262.50	\$7,575.00
	5212	Furnish and install 6"	Lach	0.00	\$1,202.00	φ1,515.00
		sanitary sewer "Insert-A-				
		Tee" or "Kor-N-Tee";				
	3222		Each	1.00	¢1 007 77	¢1 007 77
	3222	complete as specified Furnish and install 4"/6"	Each	1.00	\$1,087.77	\$1,087.72
		sanitary sewer lateral				
	2224	(relay); complete as		100.00	\$110 Q.(	#11 <b>0</b> 0 ( 0)
	3234	specified Furnish and install 4"/6"	Linear Feet	100.00	\$112.36	\$11,236.00
		sanitary sewer riser				
		(relay); complete as				
	3235	specified	Linear Feet	15.00	\$176.75	\$2,651.25
		Furnish and install				
		sanitary sewer lateral				
		marker balls; complete as				
	3236	specified	Each	16.00	\$69.69	\$1,115.0
		Furnish and install				
		connection to existing 8"				
		sanitary sewer mains;				
	3300	complete as specified	Each	23.00	\$2,799.72	\$64,393.5
		Furnish and install				
		connection to existing 10"				
		sanitary sewer mains;				
	3302	complete as specified	Each	10.00	\$3,061.31	\$30,613.1
		Furnish and install				
		connection to existing 15"				
		sanitary sewer mains;				
	3306	complete as specified	Each	2.00	\$4,102.62	\$8,205.2
		Furnish and install		1		
		sanitary sewer concrete				
		collars; complete as				
	3330	specified	Each	2.00	\$4,545.00	\$9,090.00
		Closed circuit televising -	-			
		using push camera;				
	3710	complete as specified	Each	2.00	\$1,010.00	\$2,020.00

Contract 25-11 Sanitary Manh	ole Rehabilitat	ion / Inflow/Infiltration Re	eduction Program (	#9704056)		
Owner: Oshkosh WI, City of			-			
Solicitor: Oshkosh WI, City o	f			1		
Bid Opening: 06/16/2025 11:0	0 AM CDT					
					DE GROO	DT, INC.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Abandon sanitary sewer				
		manholes; complete as				
	3800	specified	Each	1.00	\$1,212.00	\$1,212.00
		Excavation special				
		(sanitary); complete as				
	3892	specified	Tons	50.00	\$30.30	\$1,515.00
		Furnish sanitary sewer				
		manhole grouting setup;				
	3974	complete as specified	Each	32.00	\$1,893.75	\$60,600.00
		Furnish and install				
		sanitary sewer manhole				
		grouting; complete as				
	3975	specified	Gallons	335.00	\$13.26	\$4,442.10
		Furnish sanitary sewer				
		manhole cementitious				
		liner setup; complete as				
	3976	specified	Each	2.00	\$820.63	\$1,641.26
		Furnish and install				
		sanitary sewer structural				
		cementitious liner-				
		PERMACAST by AP/M				
		PERMAFORM; complete				
	3977	as specified	Vertical Feet	35.00	\$208.31	\$7,290.85
Bid Total:						\$1,254,370.45